
BSI Part Number Part Description 

89064 Pulley Tensioner Bolt

14022672

Crankshaft Balancer Bolt Grade 8.1 (Used in 

Kits for GM vehicles with 8.1 Ltr engine)

97329601

Center Crankshaft Pulley Bolt (Used in Kits for 

GM vehicles with 6.6 Ltr Duramax)

1183SB Shoulder Bolt 

1292-2

Adjusting Bolt (Used in Kit # 1292, 13092, 

1392, 1443, 3426, 3726 and 3826)

1392BOLT 1392 Special Bolt

1688-6

12mm Stand Off Bolt (Used in Kit # 1788 and 

1789)

19392-5

Adjusting Bolt (Used in Kits for GM vehicles 

with 8.1 Ltr engine)

1SB 1" Shoulder Bolt

2582-6

Adjusting Bolt (Used in Kit # 15468, 245365, 

2582, 275466, 276466, 60011 and 60012)

2582-6MOD Modified 2582-6 Adjusting Bolt

3/4-16JAM 3/4-16 Jam Nut

3/4SB 3/4" Shoulder Bolt

3039-4 Adjusting Bolt

3-1/4 BOLT 6.0M 1/2" NF x 3-1/4" W/6m-1.0 Tapped

4016STUD 5/16" NC x 2-1/2" All Thread Stud

8MMATB 8m-1.25  All Thread Bolt (specify length)

AD35 10m-1.25 x 35 Adjusting Bolt

AD40 10m-1.25 x 40 Adjusting Bolt

AD45 10m-1.25 x 45 Adjusting Bolt

AD50 10m-1.25 x 50 Adjusting Bolt

ADJUSTING BOLTS, SHOULDER BOLTS, STUDS

www.bracketrysystems.com 8 of 24 January 21014




